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1) ROGHEZEHTLESL, (2R X10&E)

1)  1.1+4.5 2) 7.4-2.8
3) 8.3+6.7 4) 0.6-0.2
5) 3.7+5.3 6) 9.5-4.1
7) 5.6+5.8 8 3-1.4

9) 6.6+2.7 10) 4.5-1.8
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2) ROFHEEZERETLASL, (2R X108)

1) 3.2-1.9 2) 2.1+6.9
3) 6.9-4.8 4) 0.4+5.7
5) 8.7-4.9 6) 7.8+4.4
7 1.3-0.7 8) 4.8+2

9) 5.9-1.2 10) 9.2+5.8
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45 —7R—1:8—kiE A =]
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3) ROHEEZEHETLASL, (2R X108)

1) 1.6+6.9 2) 7.2-1.5
3) 9.9-2 4) 5.1+4.4
5 3.9+2.1 6) 0.8-0.5
7)) 2.4-1.8 8 6.3+6.8

9) 8.5+7.5 100 4.3-2.1
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45 —7R— 18— KB A =]
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4) ROFHEEZERETLESL, (2R X108)

1 7-1.2 2) 9.7+6.6
3) 2.6+7.4 4) 8.9-2.1
5) 3.5-2.6 6) 4.1+6.8
7) 0.1+9.9 8 1.9-1

9) 5.3-2.9 10) 7.9+46.7
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5) ROHEEZERETLASL, (2R X108)

1) 56.5+45.5 2) 1-0.8

3) 4.7+3.8 4) 2.2-0.6
5) 6.5-3.9 6) 1.4+5.8
7 3.1-1.2 8 9.4+7.6

9) 8.1+3.5 10) 8-5.1



NTERADHB(HEBERFH

4E—7A-14
1) AE—MRE (255 108) A =
1 56 2 4.6 3) 15 4) 0.4 5 9

6) 5.4 7 11.4 8 1.6 9 9.3 100 2.7

2) KRE—M@E (2R X108 A B

1 1.3 2 9 3 2.1 4) 6.1 5) 3.8
6) 12.2 7) 0.6 8 6.8 9 47 10) 15

3) KE—M@E (2R X108 A B

1) 8.5 2) 6.7 3) 7.9 4) 9.5 5 6

6) 0.3 7) 0.6 8 13.1 9) 16 100 2.2
4) KE—RE (2Rx10%#) A =]

1) 5.8 2) 16.3 3) 10 4) 6.8 5 0.9

6) 10.9 7) 10 8 0.9 9 2.4 10) 14.6
5) &IE—ME (2RXx10#) A =]

1) 11 2) 0.2 3) 8.5 4) 1.6 5 2.6

6) 7.2 7 1.9 8) 17 9 11.6 100 2.9



